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" Part-1: Child Develo

1. One of the” following is not 2

characteristic of  emotional
development during adolescence.

(1)
(2)
(3)
~(4) |
Se 300 TS Tomssst éasn:eesg
Doweloul SFErNw
A BB $oBAk0 IYD
(2)
(3)
(4)

Confusion and uncertainty.
Generalised excitement.
Emotional instability.

Fear and anxiety.

FTOea L%E_:?E:C
&0 s

::Sotﬁac o8 T 0D

An infant holds a toy 1n1tlally using
his palm as he grows holds it with

fingers. The development pr1nc1p1e Je

that explains this ..

(1) Development proceeds from

general to specific.
Development is predictable.
Development is interrelated.

Development proceeds
cephalo caudal direction.

(2)
3)
(4)
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pment and Pedagogy

A class VIII student helped her
classmate in learning English. The
transfer of learning that has taken

place is .

(1) Bllateral

(2) Positive

3) Negative _

§4) No transfer of -learning
occured.

2 DODeEH GORO ITEA, G & B8
ol ePmonnd’ MFCLBANs. 5L

ZOND GG LETONTD.

(1) 553"‘:535
eoEFw
(3) posre
(4) . w8oomoy abonito

A student studies hard to retain the
‘star’, awarded for her best

. performance in class as she was

told by the teacher that she will
loose the-star if her performance

decreases. The reinforcement that

is makmg the student to study hard
is .

(1)
(2)

Pu’h"i'shment

Negative reinforcement
(3) -Positive reinforcement

(4)-. Primary reinforcement
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A boy in your class always looks

confused and .indecisive. As a

teacher you would ....

(1) ask him to follow the
"instructions of teachers.

(2) take decision for him.

(3) tell him to approach elders.

(4) provide him guidance to take

appropriate decision.
D BOHOETR ¥ DOTE NpEr BESE
BB oo SEB R8BS ey, o8
EFTGOI0IT DY +.oe :

(1) &drgrgoioow BREBOS FIeBBVD
WO,

(2) Bl S0 oo 0T,

(3) s DoEaowH 553 DLRDHTHY.

(4) won Dckres BESonsts €528

BPEEGEEN TR

If all the high schools are provided
with
technology ....

(1) Teachers can not be replaced.
(2) Teachers can be replaced |
_ totally. o S

(3) One teacher can handle all
classes. R S

(4) Provision of ‘one teacher for
one class’ is sufficient.

anys DToedpud oTodEID

Do RCEBEG oBODIIONT ...
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N
- As per 1
theory of learning’, the role of the

~ teacher in the class roomisa/an ...

_ Booklet Code l B I

As per Havighurst ‘Developmental
tasks’ are ....

(1) Educational mile stones

(2) Social expectations,

(3) Medical norms

(4) Learning interests

;35;3@5‘}; @580, ‘A5 K)oy’ ;

DEFGHTPRN SRV

Spoiol GouT0

(8) i ERreTe

the ‘social constructivistic

(1) Spectator .

' (2) Demonstrator
(3) Instructor
(4) Facilitator

iZpeiol ITETEE SETHPR barese’

BT5e BKE Kod® &eroind FB ...

(1) (s
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/g) S

1) a5

(3)
i (4)

-~ The ‘plateau’ in the learning curve

indicates ...,

(1) Temporary arrest in learning.
(2) Learning is completed.

(3) Learning began.

(4) Increase speed in learning.
OGS0 BEOPE® Lginds &% HAV JrAR.
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10. The physical factor that effects the
development of an individual.

(1) Light

(2) Temperature
(3) Food

(4)

58 0D [HeFde Wrbod by suke.

Hormones

(1) 5%
(2) &dgw
(3) et
(4) %60

/

11. One of the following is suggested by
NCF-2005, with regard to learning.

(1) Learning should be in the
* wider social context. -

Learning should take place
within the class room _only.

(2)

Students should be passive to.
acquire the knowledge from
the teacher. :

3)

(4) Learning should be._ teacher

directive.

20876 eI Sowodod, N CF—2005
2rdooed.

1) eggsso 25y Fohss 50lod’ atmd.
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. 12. A student of class V frequently

B
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: 14
exhibits temper tantrum. g;}us
indicates that the chll.d has problem

- relating to this domain.

" (1) Psychomotor
(2) . Cognitive' _
. (3) Conative
(4) Affective

L w5 BENO DG BEBE o DL,
LoTIs Dol Bo B e BomdS DEASED

UL TSI I

(1) 5oy - SeTss
(2) oo

(3) B

@) ds

A

'13. Heterogeneity of the class room
shall be viewed by the teacher as

B : S _
(1) Burden for teacher.
(2) Source for learning.
(3) Hurdle for students’

adjustment.

(4) Need for segregation of
. students for class room

transaction.
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16. Identify the correct statement from

14. Students of class V could not

understand the lesson as it was not the following :
organised sequentially. - (1) Both teaching and learning
The factor of learning that are passive processes. _
effected the understanding of (2) Teachlng is an interactive
students is . process, learning is a passive
(1) NEIther persona] nor . process.
environmental. (3) Teaching is a passwe process
(2) Personal. " learning 1s an. interactive
(3) Environmental. - process.

(4) Both teaching and 1eammg

(4) Personal and Environmental. are interactive processes.

o BT E006® BEuEOony e v 5o
BN dovgbyen wfo WSTHE Aaymss.
DT IR (S5rS0 25.026 QLI

2o0mSE° $TD TR HZotod.
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= é S e | C(4) %% 50cin egigen Bods Nroe
‘ t.sesagcs DoRghK @@oﬁ:é.
15, A student who has not studled _
properly, to cover his faults, blames
the teacher, saying that the teacher_

has not taught properly, .... is an
example of this  defense

1%, Accordlng to Piaget theory, a child
attrlbutmg hfe to inanimate objects
A e -

mechanism. _ | (1) Reversibility _
(1) Identification = . i (2)  Object permanence
(2) Projection ' | (3) Animism
(3) Rationalisation . (4) - Organisation .
(4) Compensation . BUTR SOTTOE DIpodin ES0, IR
2o DOHY oE 2o B9 Shypeno ST Bood g‘*aa SUTRPOL BTY
ERunSiets  aderdinGs  Hom S0y
-‘-E Sl I
S ouBEn weyto Tt OEL0% O5Y Sodhw (1) adﬁsmé&gé
V:;-)/Wméégﬁbno (2) :J:&_.J?gd@_sﬁ
£ - ;
) EEdee (3) Do s
(3) irooistiemso 4) 5
/( DRSS
(4) wo5tse
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18. A teacher has developed a five pﬂmf
scale to know the students
preferences towards digital
teaching. The tool developed by the
teacher is ..... .

(1) Rating scale

(2) Observation sheet
(3) Questionnaire
(4) Check list

aod S5 dovgee  (ErsHER
— @

SoSOETRI 2.¥ EICraans @i SPoN0L

fcbm}bo SRFoDOTES, s éﬂ‘ﬁgwxm

SPFolods Sso
1) Jopbes wmied
/i2) $0%0D Bive
(3) (@0
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19. One of the following should not be -
done by the teacher while teaching

a lesson in the classroom:.

(1) Teaching by giving more
importance to intelligents. -
Using previous knowledge
and experiences. :

Use of appropriate method
and technology.

(2)

(3)

(4) Continuation of motivation
continuously.
Cfoested® Sanxrana,

1) oo CRETFTRBI ghr
Sool.
(2) TP, castien

(3) A% IgTe,

4)

211 EWIN

hlberg, a child
o e Eority and
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] ing t
2. glfg\?vgdlzr'le%pect for aut

he rules durin
ﬁl)lwﬁn Eef conventiona level
(2) Pre conventional level

ntional level
Ei% qugtY(?onventional level

£860:6 P3Uo, wuTrts S ‘3;0;:65 e OTEOD
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(1) sosg @@y o
) Gy FoREaiy o
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21, Children remember the colours of
rainbow as ‘VIBGYOR’ using this
technique of memory. i
(1) . Clustering

(2) Mnemonics ‘
" (8) Paired associated learning.
(4) Rehearsal

B %00 8455 &BSrAcd, buws

OIS ESBIBOPSS ‘VIBGYOR’ ™
fo8sotosoerdo.
(1)  Kooeom D5y
(2) Fotrbses
| / (3)  &ons wowny wygse
(4) bgﬁo‘i:oe:

22. All other abilities being normal,
based on IQ level, the children who
do not fall under ‘Children With
Special Needs’ (CWSN) among the
following. .
(1) Children with 1Q 130 and above.
(2) Children with IQ0-20
(3) Children with IQ 30 - 50
(4) Children with IQ 90- 110
300 TUE ) PP oo FTUmem dod,
Pl sordom @i | wstoes
(CWSN)" 56m23 3052 2ees

(1) Bered 130 e o Syes

Ko boo

.2) ®ered 0-20 [ogs o bees
3) ®red 30-50 &g Ko Do |
(4) :

®ped 90-110 sogg e ees
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- v o learn about the agricultural
23, The stag” of cognitive development e ractices a child meets farmers, the

ated by Bruner which is | - :
e Paractorized " by child’s resource he uses is ..
1.epresen‘catic.n of things and faxfe.nts (1) Technology
in terms of non-verbal activities,
represents ... | ' 2) Self
(1) Symbolic representation (3) Home
stage. ' )
(2) Iconic representation stage. * (4) Community
(3) .Enactive representation gk BEBOTS ’am-;,,gv:, @';5555‘ X
stage. | 3';, 8 BBoOd XD, LB DVARPACIR NS
(4) Information representation 2 & - :
stage. - | @) etose
@5 HOFBODD BB DI BapoBn oy bt
oo boes SoweeR Soddio BPER @) =
SO BB TR0 DEHOD & e @) s
(1) @by ., , & ) s
2) OB - PO £ it ¥ oa / f
/((3) oSS [ ReTgS 4 : | , _
(4) Daroo @O 96. As per the Right of Children to Free
ot et i ‘and Compulsory Education Act-
24. One of the following w1th regard to | - 9009, the child has the right to get
learning is more-appropriate : - fres education, if his age is
(1) emphasis on process and between ....
outcome. A ST | " :
(2) ‘emphasis on process and (1) - 6- _14 years
memorization. .. (@) '3.12 years
(3) emphasis on outcome and job - -
placement. . 3 (3) 4-13years
(4) eniphasis on success in (4) 5 - 14 years
examinations. ' ~ :

RTE-2009 wgo @sode & HeRy Mo

28708 efisisint HonoGod ¥R
Voo GO Ayl g Nod Iy, SO5.

(1) @dow  ©o0aio - $DBBIOL

PaBI0ge. . AL  6-14 vonsymer.”

(2) @@avs  BoBaix  HoERBMUES - 9

/ e, : - ) 3-12 Wonsyores

(3) pooBy» B0  &ENSeNE (3)  4-13 wowdyTred

@"c‘;a"?ﬁﬁw%w. . I
(4) 5-
(4) 5B ToasnTl rorBIEm. )« 9-14 Woktyoren 4/
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/1)
(2)

28.

‘Over learning’ leads to ....
(1) Causes disinterest.
(2) Increasé in proficiency:
(3) Decrease in learning.
(4) Decrease in memory-
(0 wiigsoo’ B o0 el

3R SOAO0.

SDeagin BoWBI0.
(3) ey BiRe0.
(4) %08 Bfgel.

To condubt a teaching learning
activity, the teacher has to follow
this sequence .... '

(a)

identification. of suitable
~ strategies and methods. '

assessment of learners’
capacities.

(b)

(c)

evaluation of learning and
replanning. £ 4w
identification -of learning
, experiences to be provided.
Seasss  HOR
&R B 0D ERTR FeoTd.

(a)

(d)

%05 ATt 30030 BB

rogotoes.

(b)  eapsdsol FRop s SOWTIOLLD,

(C) ey Saronosssen Db Rl
ey DhERe.

(d) Eoroumelsd CHRTRGTOR ’
rogonse. f

(1) d,ab,c

(2) b,d,ac

ﬁg) c,d,ab
4) a b, ¢, d
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29. A teacher who is not well, wants to

take rest,” but also thought of
attending  the school ~ as
examinations are approaching. The

conflict that the teacher is
undergoing .....
(I) Approach - Avoidance

(@) . Approach - Approach

(3)
(4)
o8 adring et S0 g JFed
HroStrotetomo. =R $hges oY Do
Son PEToL el SERRERINIoTL.
55 MEITT,080 DoPoges.

Avoidance - Approach

Avoidance - Avoidance

S0 - DO
SDISS - GBI
B~ GBI

(4)  $BESE - HOUS

30. A Headmaster takes decisions all

by himself, this type of leadership ...
(1) -Autocratic

(2) _L_aizzef faire -

.(3) Democratic

(4) " "Permissive

l?ﬁﬁaﬁ‘q:‘SMc:a OooBe T NYATTWN
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(4) wolo Sl
TET-211-EM/TM
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(1) 0o varoyesstw
7

J&

(3)  So@iaresihd Daranolohwn
(4)

Wond BT eNIBN

5Y. Joramd TNeo SINeD dooveed.

) SRR

\é) Toistes Bon

(3) sy o
(4)  DsDvorducse wed

60. HSsurnRs wORN ATy

D) NSNS

N

(2) &5 omyb
3) daar
(4) S8

(12)
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Part - 111 : English (Language - ID)

(G160 Read the passage carefully,

Child payehology is cortainly not a
strong point with most. Indian schools,
Why else would it inflict a double trauma
on a student faving badly in the pre-
boards by banning hor from taking the
exams T Often with total results as
ovidonced by veports of student suicides
m the runsup to the board, Now the
Central Board of Secondary Education
(CBSE) has stepped in and put the
brakes on, This is good news for parents
and students, many of whom have had to
live with the threat of the performance -
linked department. While the schools’
logic is that in order to attract talented
students, they need to maintain their
performance records at high levels, the
assumption that a student faring poorly
the pre-boards will replicate this at the
boards is faulty. Chances are that the
student will be spurred to work doubly
hard. On the other hand, the threat of
the department will almost certainly
impact her/his performance adversely. Of
course, linking pre-boards to the boards
is only one of the problems with our
school system.

Now answer the following questions
choosing the right options.

61. Choose the word which is most
opposite in meaning of the word
‘spur’ as used in the passage.

(1) sustain
/(.2) depress
(3) enlarge
(4) activate

TET-211-EM'TM

62, Choose the word which is similar in
meaning to the word ‘replicate’ as
used in the passage,

(1) repeat
(2) enhance
/.(3) achieve . |
7 (4) perform

63. Which is the good news for parents,
according to the passage ?
(1) Schools will provide study
_facilities to the poor students.
(2) Schools will take the-
responsibility of preparing
students for the board.
Schools will enforce discipline
to ensure higher attendances
of students.
(4) No students can be barred
/‘ from the boards without prior
clearance from the CBSE.

64. Schools’ wanted to enforce

performance-linked department in
order to ....

(3)

(1) make students aware that
they would aspire for their all
round development.

(2) attract better quality -

/ students.

(3) get regular grant-in-aid from

the education department. ‘
provide better study material
to the students.

(4)

65. According to the passage parents
had to live with the threat of ....

1) schools creating traumatic
/é situations for their wards.
(2) falling grades of their wards.‘
(8) linking performance of their
/ wards in pre-boards to the
boards.
(4) not getting their wards
admitted in quality schools.

[13]
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(66-70) The following passage 118 five
| numbered blunkggl?‘:w each plank,
four alternatives are given. [dentify
the correct option for each blank:

Men who are always _(66) about
their poverty, complaining of thelr
difficulties, whining (67) their troubles,
and thinking that _(68) in this world 18
mean and poor, _(69) never get any
happiness out of life or achieve

_(70) success.

66 A1)

groaning
2) muttering
(3) mumbling
(4) grumbling
67. (1) out
/(2) over
(3) about
.%) with
68. (1) theirlot
/(2) a lot
(3) lots
(4) overa lot
69. (1) may
)(}2) would
(3) will
(4) should
70,~(1) any
(2) some
(3) a
(4) the

B

71. Identify the phrase containing
Noun + Noun.

Booklet Code

(1) aray of light

(2) strong light
_3)  shed light '

(4) a light source

72. Identify the complex sentence from
the following.

(1) She is not only good in
| English but also good at
Maths.

(2)

/..(3)

(4)

We read books but they watch
T.V.

If you search for it in the
school, you will get it.

You go there or they will not
give you.

73. He woke up to hear the sound of
- bells'....... in the distance.

_ Choose the -right option to fill
in the blank.

(1)

/2)

7 @)

whistling
clanging
banging

(4)  buzzing

(14)
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74, In t:he ’ activ'ity called ‘Scale
drawings’ used to develop speaking

skills Olf; students, ....
(1) The students draw the picture
~based on the clues give b
- the teacher. ik
(2) One student passes . .the

information verbally to the
other from a graph / picture
with a few gaps and the other
tries to fill the gaps. -
(3) ‘One student produces a
~ diagram from the o
students’ description
given squared paper.
(4) The students guess what it is,
. /" when the  teacher draws
something indistinctly on the
blackboard. I

on a

75. Read the parts of a sentences

(a), (), (c), (d) and “(e),.which are |

Jumbled. |

(@) cashed on their internal rifts.

(b) entering these couniries for
commercial gains.

(¢) and ultimately -became their
rulers. .

(d)

countries. _ _

(e) and over a period of time,
gained total control.

Now identify the right order.

(1) (b),(d), (c), (a), (e)":

(2) (d), (), (c),(a),(e)

(3) (a), (b),(d),(e),(c)
(b), (d), (a), (e), (c)

/4)
76. Identify the ‘one word substitute’
from the following.

) omnipresent
X-Zl ridee)e

(3) participation
(4) successful

TET-211-EM/TM

other |

the British sloWlS;'stepped into
the internal politics of those

B

Booklet Code

77. One of the following helps us to get

a bird’s eye view of the book.
Identify it.

/1) The preface

/@) Jacket

' (3) [Front page

(4) Blurb

78. “Re-medial teaching is .....
(1) more like a crash course.
(2) nothing but re-teaching. -

) something where achievement
is expected to be very low.

(4) -need not be highly specifi¢ and
- need based. '

'79. One of the features of Reflective

teaching is .....
1) Gathering new evidences.
%2)- Predicting |
~ .(8) Clarifying
' (4) Summarizing

.80. Listening to public speeches

belongs to .....
- (1)  Casual listening
. /(2) Focussed listening
(3)  Gist listening
(4)  Appreciative listening

81. Another term used for graphic
organizers in English Language
Teaching is

1) Discourses.
(2)  Information transfer
(3)  Graphic Reading
(4)  Almanacs

[15]
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Choose the correct question
tag to complete the gentence-
) can’t they
(2)  oughtn’t they
3) shouldn’t they
4) musn’t they

83. (@) Amrita is getting married
~ next month.
(b) Amrita will get married next
" month.

Read the statements () and (b) and
choose the right option.

(1) Both (a) and (b) are incorrect.
) only (a) is correct. 8.

(3) only (b) is correct.

(4) Both (a) and (b) are correct.

84. When Padma stood first in class,
Rekha, out of jealousy, ..... .
1) praised from the bottom. of
/ her heart. . _
(2) ate her heart out.
(3) lost her heart.
poured out her heart.

/3.4)
85. 1 expect to get a prize.
- The underlined part of the
sentence is called a Noun phrase

because ...

(1) it is independent.

(2) it is the object of the verb
‘expect’. '

(3) it contains a subject and a
predicate.

it qualifies the noun.

)
éﬁ/lfientify the

sentence. '
(1) The furniture was broken up
for firewood.

correct passive

(2) A nice house is had by them,
(3) Iam not fitted by my ghoes,
(4) A Greek goddess is resembleq
by Sriya.
TET-21 1-EM/TM

B

87. Onc speaks / a strange dialect /
(a) (b)
where / I came from
(c) (d)

The sentence is divided into
four parts labelled as (a), (b), (c) and
(d). ~Identify the part of the
sentence which has an error.

Booklet Code

(1) (d)

/(2) (a)
3) (@)
4) (c)

88. John hates women. Heisa ....
(1) mercenary 5
(2) misogynist
/-63) polygot
(4) prodigy

89. Choose the appropriate reply to an
invitation.

(1) Thanks, I'd love some.
(2) Sorry. I'm afraid I am not free.
(8) I was terribly sorry to hear

that.
That’s very kind of you.

/4)
90. This man on TV

dinosaurs .......

Choose the later part of the
sentence which is grammatically

said that

correct, :

(1) have been for 250 million .
years. '

(2) had been around for

250 million years.
were about 250 million years.

were around for 250 million
years.

3)
/:4).

[16]
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PART IV(a) : Mathematics -

Ql. The number of pairs of natural

numbers. whose GCD is 5 and LCM
Es 11‘5, {5 [T
LA = O WG I, = 108 = Yo
ST NOTRNITRE ey
) 4
N
Q) 1 % o
{ M
LR \j b‘ qP ‘?‘
W' P 4 '7 A
_1{\2 ~/4,
AL 3

Qﬁ%¥/€>/

82, If log,,2=0301, then the number
of digits in the expansion of 52017
-
log, 2 = 0301 sod 52017 ooy
:‘:\:Q'-f-:ﬁ =S ::’wg

A1) 1411
(2) 1408
3) 1409 N -
:1\/\/
4 1210 (f‘
93. If 2 _ then Jx+—— =
il a7 L Jx
2 P 1
r= __.,“i""b'3' x-&-_—— —
94 J3 x
(1) -2
/&2) 2.3 A\
(3 -243 ’&/f;
4 2 )
o
g
TET-211-EM/TM
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COntent

94. Grcle with centre C and radius

- 0 and B be the set of all points

r %
the straight line passing through
C. Thenn(ANB) = .

£ w30 900
C fozieo 0w r > 0 ;?s.é-g:m ht3)

P
sty weep 0 Doloo 3208 B wowd

!L(A (-\B) = reees
(1)
@) 0

1

i 2

95. The sum of all three digit numbers

N

o0

same remainder 4, is ....

53 gig 3io 4 57 Sersslo Sope

WeBuw
(1) 1,77,926 S
(2) 1,98,540 G
/ea) 99,270 ﬁ,
(4) 88,963 ORE \

which of the following is false.

: N
A, B s 80 Tots 3208553 00 736" 8
RN

(1) (A-B)UA=B.

(2)  A-(AnB)=A-B
3 (A-B)u(AnB)=A
)‘4) (A-B)n(B-A)=¢

s

—

(17]
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Let A be the set of all points on a '

550 Dolso 35250 A 508k C o .

[
AN

which are divided by 5, leave the /@/

X
s

b
96. Let A and B be any two sets. Then \Y

,_q),b

9
)
4

Y
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99. If the mean of first ‘n’ odd natura] -
- 2

.-

97.- If the linear eciuations

, ' R |
: —0 ' _ numbersis —, thenn = ....
_3x+by+q—'0£lnd . 121
ax -2y + 12 = 0 represent the same .
straight line, then g2 + b° = " 200883 ‘N’ B B Sope-esolield S
. 9 :

3x +by +a=0 a0 i—ewﬁ,n=....

- : 121 -

ax =2y + 12 = ( e S shoscere o3

?l‘l’uwafg,a2+b2=.....: (1) 144
(l). 25_ : : vff)/ll

o

2) 37 o |

3) 35 2 |

@ 27 . @& @ 12

98. " If Sk‘-is the surﬁ of the ﬁrst ‘*’ terms | 100. If three cains are tossed at a time, _
"-thhe_ arithmetic progreésion_le, as, then the probability of getting

A atleast two heads, is..... .
Sm m- - .
g, .....and = —, then & = ... . . B, _
S, om0 e, L R Terose w330 dIouds, 59%o To
i O3 Oy By exans & ©oKEE Tk, aosed , 25"5:;&: - ‘éo_z.:':ssé
3 s _ 5
k7 Bore BoogBas Sy SeBako -S_"l R | '(1) 1
o o o hnn - Bpad® [T
: S 3 : :
EﬁO«JJé il (/ TgE=" o 3 : . ‘/
(1) Z’:*ll ' T y
_ 3 2 b
/ 2m+1 / 8 o "
- 2) 2n+1
. 7
2m-1
(4) -1
TET-211-EM/TM | (18]
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\; . e -—,Uq
&7/ %\

101. Ina APQR, right angled at Q,
PR+ QR =25and PQ = 5.

The valueof tan P is ...,

APQR, 6 Q & vonSirasm S,

Booklet Code I B

103. Let b, CE {1,2,3,4}.Ifthe equation

2 +bx+¢ =0 has real roots, then
the number of ordered pairs (b, ¢)

18 ...-

6» ce {1,234}, 22 4bxr+c=0
whugernd TR0 Me:-gno;s, (b, ¢) s

g ; - ooy D0
PR + QR = 25 %8050 PQ = 5 esc0d P
@ D= (1) 10
(1)“’Qf§ k' | 5&;1' :?7 |
5 Q\' ’ M & Q- ) 8
(2) . @ 2
24 ¥
) ' 24 104. The angle of elevation of the top of
. g - a building.from the foot of a tower
_ ; _ / : is 30° and the angle of elevation of
5 ' e _ the top of the tower from the foot of
@ T W | the building is 60°. If the tower is
_ i //Q _ {v‘lq’: ) 5}?_1%13’5_(125‘?' high, thten t}}e height of
L the building in metres, 1s ......
_ ST Y _ .
102. If sin8 +si_n29 =1, v QY . wE R0 Poson Sood of FIPUR
_ ' e . QQ./ o &g Shrevon 30° wo0ain gRondEnn ok
thgn 1+ cos“8+cos™ 0 = e 9. B : C ooy éitgs.s.‘n;m 60°. g @y,
- O//g . 8y 50 Dowoty wossd, gRskne Gof, J8
' o AR (Dowsséd) ...
sinf +sin®0 =1, @M"@q_@) ) iy
. | 50 -
wosod 1+ cos?0+cos?l = ... (1) WEl
. ( — S‘ll’\o g\o’
St (2) 50
/ i ene ¥~
' Lo 50
T R —
(2) 2 et L | (3) 3
{3) 1 X, LN ‘/_
; T 50V3
Qo )
X
( rk/ v A - 3&}.
_ goR <
TET-211-EM/TM [19]
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105, '1jhe curved surface area Of 1-ight’

i |
cireular cylinder of base 184S

18 obtained by multiplying it*

volume by ...

PITRG T o e Aol WECC
¥ Q —

TR Jorsos A oo T )

TOroWHONS 988 T ’4
V"‘"

(2)

o
2r

2

[S—

r
2 r2

(3)
(4)

106. If the areas of three adjacent faces of
a cuboid are A;, A,, A, then its
volume s .... \

e Boise Gy, eisis) Basare predee Ag,
Ag, Ag, wand; B posidsrese

- Q) (A1A2A3)3
\\4 Nwww 4]
AAA, %0
(3) AAA, &,(.,f 9
@ (A4,A,) | o

107. A hemisphere and a cone have equal
bases. If their heights are also equal,
then the ratio of their curved surfaces
will be

RBIH FPENe SORY eEftnn Sebata
GoKIHY e WHMIRD, e v T

------

P

_—
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108. A sum of Rs, 12,5600 amountg
Rs. 15,500 in 4 years at the rate of
simple interest. The rate of interey
i8 e
Fse 54 4 voutyoo TN

5. 12,500 esdes 80.15,500 208
uoa:é, $aden =

7k
: WY 7{1‘
A o)
Wi
i
109: The diagonal of a rectangle is 17 em

and its area is 120 cm?2. The
perimeter of the rectangle is ....

(3)
o "(4)

(1) 46cm
(2) 23cm x v
v (3) '32em nﬁzg
(4) 30cm: Ky

2% BY BBBEH G0y, 58w 17 Do,
BoBaio 8 pessen 120 B. 2o.8. ead

’&gp@c&@@ Depfon LN ‘
(1)~ 46 305 f;:.}"‘ ~

23 ?oo.b.ﬁ.‘b"}w

S o, AR
10, Ina scho%tio of the number
of boys to firls is 7 : 4. If there are
140 girls, the total number of
students in the school is ...

&S PETo® wreny, wdse N9 7 4
FET0E 140 3008 rOSe0d RECLREE

D58
-6‘ J3:1 QW
@ 2:1
(8 9:1
(4) ﬁzl
TET-211-EM/TM

35‘3%&:‘.\’:::3)3
(1) 345 s ,:;éy @
) 245
(3) 285 6 "’\(;
(4) 385

(20]
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111. If the points A(1, —9) B(3, 1) and

C(-5, 2) are vertices of a triangle
then_tge pgmﬁ of intersection of the:
side BC and the bisector of the a

ZBACis..... ' . o

A1, -2), B(3, 1) 55803 C(5, .2)
Dotioped 25 Bgbe Igvond, BO s

S8y ZBAC §8 RRBoED Do pos
Do&od '

1 4 G5

o (55)
LT ST ghg

112. JIf AP and AQ are témgénts drawn I'

from an external point A to a circle
with centre C and radius 8 cm and
AC = 17 cm, then AP + AQ = ....

(1) 36cm.

(2) 15cm.
(3) 25cm.
(4) 30cm.

C foisn 8 po.do. T rEsw o 9)303
AC = 17 0.5 cond AP + AQ = ....

(1) 36 2o.2o.
(2) 15 oo
(3) 25 »o.2e.

A2) 30 ot

113.

Booklet Code

B|

if AD, BE are medians of AABC ang
F is a point on AC such that DF is

i parallel to BE, thenCF: AC =

- AABC & AD, BE o zoss o8t Speo

r J{) 1:4 | | &<
(4) |

114.

50805 BE % Sarostism DF acdews
AC 550 Doty F ewonsd, CF: AC =

(1) 3:4 ,%9
(2) - 12 %

2:3

If the slope of the straight line' -
joining the points (- cos 8, sin 0)
and (cos 6, —sin 0) is

cos? 0+ cos®0 sin?0 + sin?6

b | |
(0<9<§), j;hen cos O = ...

(—cos 0, sin 0) So8ca (cos 6, —sin 0)

- Dotivpoms D6 BEU0p G0, e

W

k3]

- (4)

[21]

cos* 8 + cos? 0 sin26 + sinZ6

_(ngcg: 0<0 <g ) eond, €os 0 = ...

(2)

Do | m‘% bll—l IH
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Methodology |
115. The approach adopted in the | 117, The evaluation tool (hat Ny
curriculum of pathemati®® {.‘L students, academic performang
secondary level in Telangand gtate '
IS Shae 1L
(1) Concentric and Spiral (1) Dingnostic teat
2 Topical @) Aptitude test

(3) Concentric

(4) Spiral _
doorr c.w‘&crb" NeEd Jow Ned®
BArONONR b LTveiele)

() Intelligence test
(4) Achievement test

(1) S53ois wodakn %0y ; :
N (1) &% dopue

(2) %@ | ‘
/ (3) s o (2) e oy QA
(4) w30 - ' ‘ (3) ey Q5

: /(4) QG N,
* 116. “The pupil categorises polynomials h
on the basis of their degree”. The
academic standard achieved by the
student falls under .....

(1) Connectlion : (1)  Analytical method

118. Learning by doing and learning by
living are the main principles of ...

(2) Problem solving (2)  Heuristic method

(3)  Reasoning proof | - (@3) Laboratory method
(4) Communication (4)  Project method

¢ uDER0 LIUREioy M BOUIrM0 Hsi0on B30 avor DugihItie Boduin dhetw
$5500DN." moly 20%Q  PQody ey :5\‘33‘35‘-‘:\:'.0 o &2 a0y MR
DongERIrINd (D) e ago
(1) onsdepwie | (2) U 80
(2) a2 | 3 oo 230
(3) UrPe - LMoo @ s 550

/4) SSEHES
TET-211-EM/TV (22)
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Lats o o

. 119. The teaching programme in which
f~ student participates actively for self
learning at his own pace is

(1) Micro teaching
(2) Projects

(3) Programmed learning

(4) Laboratory work

R RReE Moo wiifite o o8
W PN eBdd S dovse

(1) = Son
(2) @Soyoe
3) sugEsoasos uﬁszéa‘;c:

/

(4) EArKTe B2

TET-211-EM/TM (23)
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120. The main aim of recapitulation inl

Herbartian model of
planning 18 ...,

(1) to supervise the learner.

(2) to know the extent of
objectives of the lesson
achieved.

lesson

(3) to present the concept.

(4) to assess the pre-requisite
knowledge.

WONGONR IEEENVY TS’ Lo,
ooy, S0P STID

(1) eyl Sopdonto

/2) Fooio @nY, opee DRsw

FOoBwdAsS BeoeSow

(3) eSS D5BotEe

(4) oo o8y
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121. These gare called microscopic 124, Find the incorrect statement.

Science - Content

policeman, (1) Herbivores occupy  first
(1) Monocytes trophic level in a food chain.
(2) El‘ytl‘-l'ocytes ' “ (2) Abiotic and biotic factors are.
(3) Blood platelets - structural components of
(4) Neutrophils | ecosystem.
SSD [EHNE HNeFaus e Do, (3) Detritus food chain starts
(1) =g 28 from litter.
(2) I syseres ‘ , : ~ (4) ‘Aphids’ occupy “2nd trophic
(3) _u¥ vodves | ~ level” in the food chain.
: 21;.:'5:59‘,:53 paa g 0] b;bsﬁm lﬁgcnc&.
. (1) oy Sonnd' Tumitoos Dosd
122, Choose the correct pair of short , s Iosdt dosram.
term crop. ”
(1) Red gram-Jowar. ‘o (2) =9 200a0 AR TT, wnder B
(2) Jowar-Green gram. ' QA0 ATETTT WRRTT0,
(38) Green gram-Black gram. (3) rUTRs LRy Mol MsgBay
(4) Black gram-Red gram. Sorudde (5:5) i
éﬁ:‘&ﬁ Do 33'9:3 T3 L] r‘bgO:’O&. @‘5053‘653@&395. °
8 - &% :
\)(;/":é 2::&; /4) WO Sood® WhEwy Teoas
e - ' : N ' A
Fasdony & dowran.
(3) o - Dowowo = |
USUREUE Sl . p i
) Rk 125. Animal with sharp incisors ....
123. Identify the odd disease based on (1) HD-U,g
the group of causative agent. (2) Lion
(2) Typhoid |
(3) Cholera 4)  Cat
(4) Tuberculosis - GRS Povmes (incisors) fo mevey
Ty ko G, Bharine utem GRy (1) xy,
;‘59' ‘hggow. 2) .
\/‘d{“ B e
(2) eF* S
(4) 2T |
TET-2 11-EM/TM (24
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h the animals with their
129, Match L wi their
oxcretory products and chooge the

126. ‘Edema’ is relateq with ...,
() Lywmphatie systom
(2)  Digestive systom
M) Rcspi\'utm‘y yvstom
()  Nervoug System

SN ooy ¥OMA.

[, Uren (A) Freshwater fish
[1. Uricacid (B) Frog
111. Ammonia  (C) Snake

(1) i-‘:.b:& Y (1) I-A, 1I-B, TII-C
A2 SR aey @ 1-B, 1I-C, III-A
Q) Ty . 3) I-A, 1I-C, II-b

) = aay

\ @) 1B, II-A, IILC
127. The cell-organelle which helps in
manufacturing of lipids ...,
(1) Mitochondrion
(2)  Golgi complex

Spero T WYY ool sudd, seds
WargrTe, odeted,

. : [ onrdas® (A)  Soods S
(3) Chloroplast . ——
- (4)  Smooth endoplasmic | L onnbsipe  (B) 6y
Reticulum, IIL camdase  (C) v
Bole Boudd Sud serexe (1) I-A, II-B, III-C
1) BSroganl - e © (@ .1-B, ILC, III-A
/2) wRRAgge T e (9 I-A, II-C, III-B
s i 4 1B, IIA, IL.C
(4) S5y woBly e s .
. w3 hich 130. Water reaches top of the tall trees
128. The stage in mitosis in whic due to the phenomenon ....
chromosomes are aligned at the ;
equatorial plane of the cell. *- (1) . Guttation
(1) Telophase | (2) Transpiration
(2) Prophase (3) Respiration
@) lzljtarlnlhase (4)  Photosynthesis
(4) aphase : ;
, QT TS A 338 el Hr Bk SN
s2a0gend® Sard'Sier stmaly oNed <E mﬁ? s i
(1)  wob. &% - (1) ol
(2) g o - (2) - eXde

/4

) Sen &% (4) ey SedmN et

TET-211/EM-TM [25]
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131. Find the time period gf s T

whose frequency is 400 B

400 :,.§§Q 3‘?6::};:639 Xo Bl (TR

SO SRoised.

(1) 0.0044 s Y50 o"_faf\/ﬁ/“"

(2) 0.0033 s e

(3 0.0011s e
) 0.0025 s |

-132. This is a modified stem.
(1) Sweet potato

(2). Carrot
(3) Radish"
(4) Potato

30 EPSrobtic Dol oko
(1) Donssoes

@ =5

(3) woogen

D

LOMRSIed

-133. Smooth muscles are found in ....

(1) Alimentary canal

(2) Arm
(3) Leg
(4) Heart

3i0i) Yokoes Ko 388 grio

;)6 ég:a'éo

(2) o

(3) T

[26)]

.

135. Which of the following friction has

“1) 0o

Booklet Code

B

184. We feel warm after finishing oy

bath under the shower on a hot da},'
is due to ....

(1) Freezing

(2) Humidity

(3) Condensation :

(4) Evaporation |

300 Frod® dpo I boyd ¥080 iy
TR RIS CTEL: SR sloloc

(1) BoDise

(2) epgo

(3) robstseso

Fapgso

self adjusting force ?
(1) Rolling friction
(2) Fluid friction
(3) . Static friction
(4) Sliding friction
808 TRS® Syve MiigErw Boc’ ¥OND Wo¥n

~

(1) &g $oges

(@) g g

\,La')/'g»:as Bagges

(4) erdocss o5

136. The minimum ‘distance from real

object to a real image in a concave
‘mirror is ...,

VT SGhmod® A3, de BODeerl

Bo%s No 32y ande

(2) f
@B 2f

4) f/2
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137. In the electro mygnot: ‘
which of the Follmmm SDROLIVIN,

owing ra
more wavelength jg g rays have

(1) Radio-waveg
(2) Gamma-rays
(8) IR-rays

(4) X-rays

f DB BB WYseod
508% 3Tewen ' ]

D

SAD> Aewes

(2) o e
(3) wotom dBewes
(4) X-38emen

138. Arrange the following in the
B increasing order of their pH value.

t (a) gastric fluid
(b) milk of Magn’_esig.'_'li';
(¢) blood
‘ (d) lemon juice

200 6® pH Deon D04 E0id0

r B (a)

rpsrlg (&%

(b) o8y, &b Wohpaesr a
.(c) &%

(d) amsgse
v({) a,dcb

2) ab,d,c

(3) a,d,b,c

(4)

a,c b, d

‘ TET-211-EM/TM

140.

Booklet Code

B

139, We get Si}vet: metal (Ag) in the form
of precipitation by the reaction of
dicyanoz}rgentute 10n8 with this
pOWders 18 .eve

(1)

7inc dust

gl

(2) Aluminium dust \"..r‘
I
(3) Copper dust NG
(4) Magnesium dust
E’.'{.l:"gdluf wo.‘ﬁ‘ﬁwx_? G, 5.:'§c£‘
soTotod Ag %Y eifs Ersedt
oo, o
5
\_slf{ 20E Brgo @
' )
(2)' wwsﬁbﬁo‘bc wrge \)‘;

) oed Brge

(4) Dhyagio Brge

Element with atomic number 15

and mass number 31 is present

751 RO

(1) Group 5 and Period 4

(2) Group 15 and Period 4

(3) Group 15 and Period 3

(4) Group 5 and Period 3

SRR Bogyg 15 So8c%w (EH03 Doy we

31w e Sarodo e oo o

(1) 53 @, oot~ o W
r;‘\

(2)  15% iy, 40 beanE N«

(3) 153 vy, 3 boowé

J‘)/- 0% Yy, 3 LoanE

[27]
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141.

Fi}r:d the length of the "°“du§t(:
Which is mgyj ith a sPeeC.

10m/s r?r(:.vmgt‘l:;th directior
Perpendicular to the direcjclm}[‘ qg
magnetic field of jnduction 0-6 !

it induces an emf of 6V between the

- ends of the conductor

(1) 12m
(2)° 0.6m
@ 6 m

4) 1m

0.6T uoﬁ;b#cé edoie FolBd HOAS
FBeR% eonor 10 by [ B8 BoepBIYy

s OX Jose So%s 6V 2ol weo

©0cs0ad e &i Fesyo S8 ol .
o

(1) 123, T

\/ !
(2) 06%. - i o
3) 6.

J‘ﬁ 1 .

142.

/

TET:211-EM/TM

The lens which can form real and
virtual images in air; is ....

(1) Biconvex
(2) Plano concave
(3) Plano convex

(4) Biconcave

(1) Bocersw
(2) wmbe Dy

(3) =eto Doy

(4) 55;2)0“:'0

PSS A

Booklet Code B

. Power supply to our home frpm the
i electric pgle will be interrupted d_lle
to formation of the met'al oxide
layer on the electric Wire. The
metal oxide i8 ....

(1) None of these.

(2) Electric wire damages.

(3) Electric wire breaks up.

(4) Works as electrical insulator.

Dol Hego B00d D UM BUSC B DLl
b 8%mes3 & B D6ED

(1) 98 o,
(2) w6 b Sesapocs.

() omd & davoca.

/(4) DS AP Brtsteed.

144. The boiling point of Argon is ....

SO T, (DS Fs0

/(1) "=193°C
(2)

~-183°C
@) -186°C
4) -196°C

(28]
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- 145. Incorrect state,
| Audio-visual aid:,nt

(1) They help

in ; )
o ok b e v

S -
eye, | €en with

(2) They motivate
(3) They are not a

(4) They Speed up learning.
)%
butal:y Mol

(1) Dpede sods BPEDD 3D :;p:ac.-«aa

&’mﬁ;&dww.

(2) =2 35‘553;:;’3: ©8bFaw,

3) 3D Worfo Bood wsareI ©
BFEERS Lonom dosy.

(4) 3D wgasorl, Ssoto Jrow.

146. Formative evaluation is done ....

(1) Before admission into a

course. |
(2) ‘Before starting the
instruction.
(3) During the process of
" instruction.

(4) After the completion of the '

term.
DoETEE Brergesne £:0D Hoaie

(1) Shuxnd* Supiod ot

(2) Sowss ZCooweD Dok
) S sEibBIR st
/(Z) 036, Wrgew BO

TET-211-EM/TM

BRI SERrssseBoy Honodod

Booklet Code B

Methodology

with regards to | 147, When a student stopped using

plastic covers after listening to the
lesson ‘Synthetic fibres ~ang
plastics’, the objective achieved
18 s

(1) Organisation

(2) Responding

(3) Valuing

(4) Characterisation

X TR ‘5O oo FhEerr o

Yssoe BOE TR Do VAP, Lreom
w@g,;hwnwé, PHoBED o .

(2) ©B%ss

(3) Deowseso

4) ?Jei‘gﬁ‘.éo

148. This is not a suitable role for a

science teacher.

(1) Counsellor

(2) TFacilitator

(3) Financer

(4) Manager

30 DS TG SO0 BAY G T,
(1) =aeb '

(2) dOEE

/-(3) PRO0E
(4) Jdub
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: D). Thss kits are designed for

) | T T 2380 Bewelod 308 TS

te&chers.

(2) Thege kits act like small
laboratories,

(3) Thege kits are useful in
Schools where there are no
laboratories.

(4) These kits are designed to|

carry anywhere easily.

2037,

Fe Dd¥mn  adpdine  SU%
EPPoROBAS.

/(_1)
) m Se3es 28 PEAFNEToom
_5333_3033.- ;
@)

- BAPETees 89 Fomes 51 Suses
é;"ao:i:u_ﬁ_om &otrow,

(4) 543> wogor BER %@
RO B¢ De3%en ErroBouedng.

y:

(301

Booklet Code

150. We can not say exactly that

construction of knowledge takey
place in the situation.

(1) If the student applied the

learned concepts in Dey,

situations.

(2) If the student reported
concept taught by the teach,,
either in the class or in
examination, without ay
‘mistakes.

(3) If the student invents ng

things by applying hj
pr_evious experience.

(4) If the student defined the
concepts by discussing in pegr
group and with his previoys
experience.

51 (300 Bosbad® o Jonesin 203

PROOTT IiHBE.

(1) A0 wPoDT - PHIeBs  IFES

RetTyes® DAAPACIIDLD.

AP SRS XA

W;Brew ool Sapes Bl

BONBE, 3055° IRBeu .

@) 20 Y TROLTY DIBFACD, SIS
JLIrTR R BoDNE:.

4) 28 wrowewsd, dadm,
Boseed  B0p0 prsvew

- AeIHEs.
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